VEAR EXAMINATION 2014

Name : ( ) Date: 27 Oclober 2014
Class : Primary 2 { ) Time: 1.30 p.m. to 2.30 p.m.
Parent's Sighature : Marks: / 50

- MATHEMATICS
PAPER 1

INSTRUCTIONS

1. Write your name, class and register number.

2. Do not tum over this page until you are told to do so.
3. Follow all instructions carefully.

4, Answer all questions.

30




Section A (10 > 1 mark }
Choose the correct answer and wiite its number in the brocke’fs._

1.  Inthe humber 789, the value of digit 8 is

} 80
3) 89
) 800 | R G

2. Which is the smallest odd number ?

(1) 128
(2) 517
3) 453
(4) 938 ( )

—

3. 45+ 10tens =

(1) 55

(2} 850

{(3) 450

(4) 145 { }

4.  Raju has 37 marbles. He has 9 more marbles than Ming. How many
marbles does Ming have ?

(1) 28

(2) 32

(3} 46

(4 127 ()



5. The mass of the apple is g.

(1) 200
(2) 205
(3) 225
(4) 250

- The pencilis longer than the stapler by cm.




What is the missing number ?

(1) 36
(2) 20
(3) 16
(4) 9 ( )

il wtijw @iV wiw



Madam tim was at the shopping centre for two hours.
She left af 6.45 p.m.
What time did she reach the shopping centre ?

(1}  4.45p.m.
(2) 6.25p.m.
{3} 645pm.
(4) 8.45 p.m.

— ([

bottle

XXX

botlle ) glass

How many glasses of water are needed to fill the pdil ?

{1)

2 12
3} 3
(4) 15



Section B {20 x 1 mark )

Eillin the blanks or boxes with the correct answer.

11.  Write in words.

12. 13.

~> QO
O o
- (O

NN O

SEEN

14.  Mr Ravineeds 2 m of rope to tie some parcels.

He already has 1 m of rope.
Circle another 2 pieces of rope that he needs.




15.  How many toy giraffes are needed fo balance 3 toy bears ?

toy giraffes are needed.

16. Look atf the piciure below.

Then write g multiplication senfence.

O

17. Find a pattern.

30

1

/.

c \/ s

/-

The missing number is




18. Esther and Grace had the following amounts in their purses.

Esther |
000

Grace
D () @HE)

Who has less money ?

19.  Colour % of the following figure.




20. The clock below is faulty. It is 30 minutfes slower than the actuat

time. What is the aclugl time ?

Faulty clock

The actual fime is p.m.

21.  How much more water is needed to fill the beaker to 1000 m# ?

1000 m#

400 m#

m€ more water is heeded fo fill the beaker to 1000 m#.



22.  What is the following figure made up of ?

Cuboid(s) Cvlinder(s)

23, Four children share the cupcakes equally.

How many cupcakes does edch child get ?

Each child gets ___cupcakes.

10



24.  Ahmad has the following amount of money. He wants to buy @

pair of shoes that costs $62. How much more money does he

OIOIO)

He needs $ ‘ more o buy the pair of shoes.

need ?

The picture graph below shows the favourite colours of a group of

children. Study the graph and answer questions 25 and 26.

Our Favourite Colours

Blue Green Red Yellow

stands for 4 children

25. children choose yellow as their favourite colour .

26. A total of 32 children like the colours black and

SR S




27. Cirde the missing shape in the box fo complete each pattern.

ol

28. Cross out the items that cost more than $30.

$199.95 $25.90 $290.05

127



29. Amange the fractions in order, beginning with the greatest.

Greatest

30. Complete the table.

Figure

Number of straight lines

Number of curved lines

End of Paper

13




PRIMARY 2 END-OF-YEAR EXAMINATION 2014

Name : ( ) Date: 27 October 2014

Class : Primary 2 ) Time: 4.15 p.m. t0 5.00 p.m.

Parent’s Sighature

MATHEMATICS
PAPER 2

INSTRUCTIONS

| 1. write your name, class and register number.
2. Do not turn over this page until you are told to do so.
3. Foliow all instructions carefully.

4. Answer all questions.

20




Questions 1 to 10 carry 2 marks each.
Show your working and answer statement clearly.

1.  lsabelle bought a bag for $12.
She had $7 left. '
How much money did she have at first ?

She had $ at first.

2. There are 987 pupils in a school.
439 of them are boys.
How many girls are there in the school ?

v

A

€ )

There are __. girls in the school.

&k




3. MrCheris 172 cm tail.
His daughteris 121 cm tail.
How much faller is Mr Cher than his daughter ?

Mr Cher is cm taller than his daughier.

4. Javier wanis o buy some eggs.
How many eggs can he buy with $8 ?

Hecanbuy_______ €ggds.




5. Vera took 10 minutes to run around the field once.
How much time would she need to run 6 rounds

around the field ?

She would need minuies.

6. The total mass of a bag with four identical books is 7 kg.

The mass of the bag is 3kg.
wWhat is the mass of each book ?

The mass of each book is kg.




7.  Malek shared his birthday cake with Abdul.
Malek ate % of the cake. Abdul ate ?23’ of the cake.

What fraction of the cake did they eat dliogether ?

They ate offhe cake altogether.

8. MrLim had30 oranges at first.
After buying 20 oranges, he put all of them equally info
5 plastic bags.
How many oranges were there in each plastic bag ?

There were oranges in each plastic bag.




9. Mrs Tan had some sweets o give to 5 pupils.
She gave each pupil 7 sweets and had 4 sweets left.
How many sweets did Mrs Tan have af first 7

Mrs Tan had sweets at first.




10. The piciure below shows the television programme
watched by a group of children.
Study the graph and solve the quesiion.

Television Programme

Ben Nine

Powder Puffy Girls

5 more children watched Powder Puffy Girls

than Ben Nine.
How many children watched Ben Nine ?

children watched Ben Niné.

----- End of Paper--—--——




Year: 2014

Level: Primary 2

School: Tao Nan School

Subject: Mathematics
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seven hundred and four
990

0

75 cm and 25 cm
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28.1/2,1/4, 1/8

30. 0 straight lines, 4 curved lines

1. 12+7=19
2. 987-439= 548
3. 172-121=51

4.6+2=3
3x8= 24
Q8. 5x7=35
35+4=39
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